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4) te You obsorving top of your school bildingat an angle

of devation 4s from a point which is 15m stane fromwhich is

the foot the
buildang

diagrams) Dafie angle of clavationwith

ot the
Vani observes Rani on the ground trom the balcog

first floraf a bulding ot baight
lom at an ange of

depression of o30)A
obseved the top of an electricpole at an

elovaton of 6o when obsevation pointis Sm

fot af the pole.

60 auway Jrom the

s)'Thetopof a clock tower js obsenued atis an anglk of x'and
the foot af the tower is the distanceofd metos trom

the cbseven " draw the diagram tor thic �ata ()3�)A pmson is Jying a kiteaat an angle of elavationand

length of thread trom Sand to kite isL.é 20m

lo)Sravaniobsves

the frst Jtor,of

Can on the
ground fromthe balaogy

the hasght of fivat

building at an angle of depressiona an

foor ofObuildingish metou



1 Mank:

)A parson standing

(ov)25m

from the base of a bulding
20 m

obseves that th angle a olavation to the top of the

of the buildingbulding is ys, than te haighkt of the

Heightof the) Tf he shadow of a treo is Ja times the

tree then the augle of alevation of the Sun Cat the time

is

a)The length t the shadou of a poleiscgual to the haght

o the pole then the aygle clevation ot the top of the

pola is

4) The top of a clock tower is obseved at an
angle

is

from a point on the ground.If the height the toan

is lom then the distance frono the foot
a ventical pole with

the toucn is
s) A sider of langthA placad to a

an angle of eledion 36 thn the hejght ot the pola is

)the haight t f
shadow whan sun's altitude is

a tower is lom. What s
the laggth t itt

1)Tha angle of deprassion of a ship from the top af a light

house is us If the height of the light house ts45 Som, The

distance ot the ship from the light house is

a) fhe angle of elevation o the top of a touen rm a point

ofon the gound, uhichis 3om, auuay trom the foot f the

tower isó.Find the hesght af tower.

The ratioof length o a rodand its shadeus is 1:5) o

angle a elevaio af the

I:J3, the

Sun is

high pole.
o) A boy obseued 20m trom the base ot a 2om

Find the angle of elauationof the top.:

lagth of is shado")The ratio of height of e towes and the
of elevationof the

the grand isJ3:|. hat is the
on

Sun?



12) A ladden touchy at a häght Sm.find tawall ata

angle mademade by the ladden with the ground 14 its langthis
lom?

I3)If the hejght of a touen is ioo5m,than fmd the angla

clevation of its top trom a point |00m awny from its foot

4) An olasener 8:5m augg Jrom chimngy the angle f elavadiono
at the top of the chitonay iS 45. What is the

begt
of

the chimngy?

logg Tope whichisis)A circusantistis
chimnbing

a 2on

stretched and tied trom tha top of a verticalpole to the

ground. Findthe hesght o the pole,af the ange made by the

vope with the ground levelis 6

balcony of the16) Rinky obsoNs a
Can on the ground rom the

firatflor baldig at the angle of daprassion °the

haight ot the fiot floor of the bularg
is X m.Draw the

diaqram or this data.

ob�erver) Inthe given tigue,the positons f the chsenver

and the
bagat object ave mentionad, tho

of depressionis
okject


